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QUESTION 1

To enable the Database Smart Flash Cache, you configure the following parameters:
DB_FLASH_CACHE_FILE = “/dev/flash_device 1\\', “/dev/flash_device_2\\' DB_FLASH_CACHE_SIZE=64G
What is the result when you start up the database instance?

A. It results in an error because these parameter settings are invalid.

B. One 64G flash cache file will be used.

C. Two 64G flash cache files will be used.

D. Two 32G flash cache files will be used.

Correct Answer: A

QUESTION 2

Which statement is true about the Database as a Service (DBaaS) instances and Database instances in Oracle Public
Cloud?

A. An Oracle database instance can support only one DBaasS instance.
B. A DBaasS instance can support only one Oracle database instance.
C. An Oracle database instance can support multiple DBaaS instances.
D. A DBaas instance can support multiple Oracle database instances.

E. A DBaaS instance runs in a pluggable database (PDB), which is contained in a multi-tenant container database
(CDB).

Correct Answer: D

QUESTION 3

You create an Oracle 12c database and then import schemas that are required by an application which has not yet been
developed.

You want to get advice on creation of or modifications to indexes, materialized views and partitioning in these schemas.
What must you run to achieve this?

A. SQL Access Advisor with a SQL tuning set

B. Automatic Database Diagnostic Monitor (ADDM) report

C. SQL Tuning Advisor
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D. SQL Access Advisor with a hypothetical workload
E. SQL Performance Analyzer

Correct Answer: D

QUESTION 4

Your database is running in ARCHIVELOG mode. You want to take a consistent whole database backup.
Which two statements are true in this scenario? (Choose two.)

A. The user-managed backup consists of only formatted data blocks.

B. The database must be shut down to take a user-managed backup.

C. The RMAN backup contains only data files.

D. The RMAN backup can be performed while the database is open.

E. The database must be in MOUNT state to take RMAN backup.

Correct Answer:. AB

QUESTION 5

You executed a DROP USER CASCADE on an Oracle 119 release 1 database and immediately realized that you forgot
to copy the OCA.EXAM_RESULTS table to the OCP schema.

The RECYCLE_BIN enabled before the DROP USER was executed and the OCP user has been granted the
FLASHBACK ANY TABLE system privilege.

What is the quickest way to recover the contents of the OCA.EXAM_RESULTS table to the OCP schema?

A. Execute FLASHBACK TABLE OCA.EXAM_RESULTS TO BEFORE DROP RENAME TO OCP.EXAM_RESULTS;
connected as SYSTEM.

B. Recover the table using traditional Tablespace Point In Time Recovery.
C. Recover the table using Automated Tablespace Point In Time Recovery.
D. Recovery the table using Database Point In Time Recovery.

E. Execute FLASHBACK TABLE OCA.EXAM_RESULTS TO BEFORE DROP RENAME TO EXAM_RESULTS;
connected as the OCP user.

Correct Answer: C
RMAN tablespace point-in-time recovery (TSPITR).
Recovery Manager (RMAN) TSPITR enables quick recovery of one or more tablespaces in a database to

an earlier time without affecting the rest of the tablespaces and objects in the database.
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Fully Automated (the default)

In this mode, RMAN manages the entire TSPITR process including the auxiliary instance. You specify the
tablespaces of the recovery set, an auxiliary destination, the target time, and you allow RMAN to manage

all other aspects of TSPITR.

The default mode is recommended unless you specifically need more control over the location of recovery
set files after TSPITR, auxiliary set files during TSPITR, channel settings and parameters or some other

aspect of your auxiliary instance.
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